
Decimal Binary Hexadecimal

0 0b 0h

0+1=1 0+1=1b 0+1=1h

1+1=2 1+1=10b 1+1=2h

2+1=3 10+1=11b 2+1=3h

3+1=4 11+1=100b 3+1=4h

4+1=5 100+1=101b 4+1=5h

5+1=6 101+1=110b 5+1=6h

6+1=7 110+1=111b 6+1=7h

7+1=8 111+1=1000b 7+1=8h

8+1=9 1000+1=1001b 8+1=9h

9+1=10 1001+1=1010b 9+1=Ah

10+1=11 1010+1=1011b A+1=Bh

11+1=12 1011+1=1100b B+1=Ch

12+1=13 1100+1=1101b C+1=Dh

13+1=14 1101+1=1110b D+1=Eh

14+1=15 1110+1=1111b E+1=Fh

15+1=16 1111+1=10000b F+1=10h

16+1=17 10000+1=10001b 10+1=11h
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>> d=17
d =  17
>> db=dec2bin(d)
db = 10001
>> dh=dec2hex(d)
dh = 11

>> d1=bin2dec(db)
d1 =  17
>> d2=hex2dec(dh)
d2 =  17
>> db1=hex2bin(dh)
db1 = 10001
>> dh1=bin2hex(db1)
dh1 = 11

123501 Integers mod p

   123501 Integers mod p Page 1    

http://crypto.fmf.ktu.lt/xdownload/


14+1=15 1110+1=1111b E+1=Fh

15+1=16 1111+1=10000b F+1=10h

16+1=17 10000+1=10001b 10+1=11h

dh = 11 db1 = 10001
>> dh1=bin2hex(db1)
dh1 = 11

>> z=33
z =  33
>> n=15
n =  15
>> zmn=mod(z,n)
zmn =  3

>> q=10
q =  10
>> 2^q-1
ans =  1023
>> z=ans
z =  1023
>> dec2bin(z)
ans = 1111111111

>> r=randi(2^28-1)
r =  16332653
>> rb=dec2bin(r)
rb = 111110010011011101101101
>> zmax=2^28-1
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>> zmax=2^28-1
zmax =  268 435 455
>> zb=dec2bin(zmax)
zb = 1111111111111111111111111111
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